518291 ALAAENS

1399 NTAUNHUY

SWe391 A22101 YudseuAnwIUN 2
HeoU ATUIAYY nld




NIAUNWUUL




ﬂﬂi@mLaﬂUWNﬁU banNuUId

v‘iqlﬁiﬂ&Jﬁ'whmél"ﬂul,wiaztanumm@mﬁ’u
u,azﬁ']éf'aLuJﬁl,wiazLanummgmﬁ’u
Inglgauunvaaavenniad




f0819 1 W IHARMTBY (4x°)(-3x%)

i (A3 = [4x(-3)](x3 x x?)
= -12x°

08197 2 WNAAUVBY (7X°y)(2x%y?)

3B (TCy)(2x%y?) = (7 X 2)(x3 x x%)(y X y?)

= 14x° y?3
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A298199 3 VIR INANUVD 15(2a3 + 1)

95911 15(2a° + 1) = (15)(2a%) + (15)(1)
= 30a% + 15







/1 (5x)(8xy) = (5 X 8)(x X X X y)
= 40x%y

2. WNHNARUVBINHUY (-2mn)(12m*)
25¥17 (-2mn)(12m?) =(—2 X 12)(m X n X m?)

= —24m3n




3. WNAAMVIINNUIN (15xy)(4xy?)

2591 (15xy)(4xy?) = (15 X 4)(x X x)(y X y*)
= 60x°y’

4. JINARUVDINYUY (-18Xy)(-3XyZ?)

359 (-18xy)(-3xyz*)

- [(18)x(-3)](x X X)(y X y)z*

= 54x%y*z? '



5. WHINAAUVBINUUIN (6xyz)(-TxZ?)

9971 (6xyz)(-Txz2)= (6 X =7)(x X X)(y)(x X z2)
= —42x°yz°>
6. WHINAAUVDINYUIU 0(-11mnt)

251 0(-11mnt) =0
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7. WAHAQUVBINAUY - (—5x + 11)

8. ARV NN (—10m* + 8)(5m)
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